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#include <stdio.h>
#include <stdlib.h>
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int recFun(int) ;
int main(void) {
printf ("$d\n", recFun(12345));

return 0O;

}

int recFun (int n) {

if (n<10)
return n;
else

return recFun(n/10) + n%1l0;
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#include <iostreams>
#include <cstdlib>
#include <strings>
using namespace std;

struct data {
string name;
int a, b;

void funl (struct data), fun2 (struct data *), fun3 (struct data) ;

int main(void) {
struct data man={"John", 11, 33}, lady={"Linda", 22, 44};
cout<< "After process..." <<endl;
fun2 (&man) ;
fun3 (lady) ;
funl (man) ;
funl (lady) ;

return 0;

}

void funl (struct data in)

cout<< "Name: " << in.name << endl;
cout<< "a=" << in.a << ", ";
cout<< "b=" << in.b <<endl;

}

void fun2 (struct data *ptr) {
int tmp;

tmp = ptr->a;
ptr->a = ptr->b;
ptr->b = tmp;

}

void fun3 (struct data in)

int tmp;

tmp = in.a;
in.a = in.b;
in.b = tmp;
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import os.path

filel input ("Input a file name: ")
file2 = input ("Input the other file name: ")

while not os.path.isfile(filel):
print ("The file does not exist!")

filel = input("Input a file name again: ")

while os.path.isfile(file2):

answer = input ("The file existed, Overwrite it? y/n? ")
if answer == 'n' or answer=='N':
file2 = input ("Input a file name again: ")
else:
break
fileObjectl = open(filel, "xr")

fileObject2 open (file2, "w")

content = fileObjectl.read ()
fileObject2.write (content)

fileObjectl.close()
fileObject2.close()
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(O arrBubble() : H#-#rid » ch— BE I FieEZREI A Fd ] T AR (104 )
GE# & main() ! %% arMean()£2 arrBubble() =it gt - (5 4 )
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